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L. BB B2 R R 2t &
[  2-12 &40 (P/F, i, 5) =0.7835, 3K i KI%UH.
1A% 1% 2% 3% 4% 5%
1 0.9901 0. 9804 0. 9709 0.9615 0.9524
% 0. 9803 0.9612 0. 9426 0. 9246 0. 907
3 0.9706 0.9423 0.9151 0. 889 0. 8638
4 0. 961 0.9238 0. 8885 0. 8548 0.8227
5 0.9515 0. 9057 0. 8626 0.8219 0. 7835
(&%) i=5%MEFIE RN 0. 7835, Frbh, H|ZFE=5%.
[ HhA51 2-13) 240 (P/A, i, 5) =4.20, R i M%fH.
W 1% 2% 3% 4% 5% 6% 7% 8% 9% 10%
1 0.9901 [0.9804 [0.9709 [0.9615 [0.9524 [0.9434 [0.9346 [0.9259 [0.9174 [0.9091
% 1.9704 [1.9416 [1.9135 |1.8861 |[1.8594 [1.8334 [1.808  |1.7833 [1.7591 [L.7355
3 2.941  [2.8839 [2.8286 [2.7751 [2.7232 [2.673  [2.6243 [2.5771 [2.5313 [2. 4869
4 3.902  [3.8077 [3.7171 [3.6299 [3.546  [3.4651 [3.3872 [3.3121 [3.2397 [3.1699
5 4.8534 J.7135 [.5797 [.4518 |4.3295 [.2124 [4.1002 [3.9927 [3.8897 [3.7908

[ER]) BEFFESIEREEE, EHECH 5 FIEW T, TEER 4. 20 XANEUE, N FEHREEE. @
TIRIEM, RATTUESR], 4.20 /0T 4.2124 F1 4. 1002 Z (8], ABAFATATLLENE, 1 NMiZAT 6%F0 7% [A]

i— 6% 420—4.2124

Fl% o

i 4.20 7% — 6% 41002 — 4.2124

i=6.11%
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2. WA BRAE R BOR AR 2t 5
[#H 2-13) E415X (P/A, i, 10) +100X (P/F, i, 10) =104, 3K i I%fH.
[%%]
i=5%k, 5X (P/A, i, 10) +100X (P/F, i, 10) =5X7.7217+100X0.6139=100
i=4%%F, 5X (P/A, i, 10) +100X (P/F, i, 10) =5X8.1109+100X0. 6756=108. 11
(5%—i) / (5%—4%) = (100—104) / (100—108.11)

fiftf5: i = 4.51%

[RER] (2019 4F) AR WL —IUEGFRESIH, ESE 10 4F, BEFERFAN 500 56, F 10 FHERKA]
PL—MEFRE 9000 J3G, ©.40 (F/A, 8%, 100 =14.487, (F/A, 10%, 100 =15.937, (F/A, 12%, 10)
=17.549, (F/A, 14%, 10) =19.337, (F/A, 16%, 10) =21.321, WZEEHWRHEENT ¢ D .

A. 12%~14% B. 14%~16% C. 10%~12% D. 8%~ 10%

[E%]1A

[f#HT) 500X (F/A, i, 10) =9000, BJ, (F/A, i, 10) =9000/500=18, ©.%1 (F/A, 12%, 10) =17.549,
(F/A, 14%, 10> =19.337, HUILATH, ZEEAWRGEE 1 AT 129~ 14%2 8. ZREEMIRER 1 ATRHN
FEEHER IR (i—12%) / (14%—12%) = (18—17.549) / (19.337—17.549) , Bl: i= (18—17.549)
/ (19.337—17.549) X (14%—12%) +12%=12. 50%.
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[Z%] (1) 10%/2=5%;

(2) 100= (1 +5%)*=110. 25 (50)

(3) 100=(1+5%)* —100-19 25 ()

2
{1+5%.) -1
(4) Szprf) = [100=(1+5%)* —100] /100= ? =10. 25%

HARFRWT:
i= A+ -1
o 1 FOREBRFIE, v FR B AR, 0 RoREEEFI R
[Hgti] (2017 42D BV SRR, R4 SORIZON 8%, HFEATE, MIESEBRFZEA ¢ ) .

A. 9. 6% B. 8. 24% C. 8. 00% D. 8. 32%
[%%]18B
[T ) LAl = (1+8%/4) 4-1=8. 24%.

(R (2018 ) A RIEH TRIKHIRE S, A58 5000 /570, &FEARBELE i 50 Ao, NI
Flaxh C D .
A.2.01% B. 1. 00% C. 4. 00% D. 4. 06%



[Z%]1D
[T RS % =50/5000=1%, FWEF CEHFHE) = (1+1%) ~1=4. 06%.

(2) JEBTARTE DL N 1 SERRA

FEME SRS DL, SRAT BCHL A B A4 B < il DR (KDL i 2 A (10 0] 3 8 R 1 R B I A R 3R 1) 44 U,
HIEZPEIE SO 5N 7
SR F R 4R 5 B B K A i BB A5 BRR R R A JSE A R

[ A4 100 7, SEBRFIZR 5%, @RI N 2%, NHEEEEKEE,
— 4G FIARFI=100% (1+5%) * (1+2%) =107.1 (J©)

FEFE=100% (1+5%) * (1+2%) —100 = 7.1 (J5)

4 URF= [100% (1+5%) * (1+2%) —100] /100= C(1+5%) * (1+2%) —1=7. 1%
F 2 RERIR 44 SRR AN SEBRF 2 2 18] () 2K &R

1+54 SUFE= (1+52FRAFR) * (1@ BRI )
SERRAR = (144 R / (THEREIKE) -1

AULE, SBT3 K T4 SORIZR, T SEBRA 2600 67 2
[HEBY (20200 WIERSEPRAIE S 10%, WHEEKE R 2%, WL LFZER ¢ D .
A. 8% B. 12. 2% C. 7. 84% D. 12%
[Z%]18B
[iEfT ] % XR%R= (1+5EBRAI%R) X (+HEREKE) —1= (1+10% X (1+2%) —1=12.2%



